| [ |
1K
m LIOKOJ1b A19 HAMOJbHBIX LLKADPOB

Kpatkoe pykoBOACTBO NO 3KCnayaTauum

1 OcHoBHble cBeeHus 00 u3genumn

1.1 Llokonb ons HanonbHbIX WkadoB ToBapHOro 3Haka ITK (aanee — Lokonb) npeaHasHavyeH
L1591 YCTAHOBKM HA HEMO HAMOJIbHbIX LLKADOB.

1.2 Llokonb NO3BONSIET CO34aTb AOMNOIHUTENbHO CBOGOAHOE NMPOCTPAHCTBO B HUXHEN YacTn
Koprnyca wkadoB, ¢ Lenbio obecrneveHns yaodcTea opraHn3aummn kabesbHbIX BBOAOB.

2 TexHuuyeckue AaHHbIE

2.1 OCHOBHble TEXHNYECKMNE AaHHble LLOKOS yka3daHbl B Tabnuue 1.
2.2 BHelHWIn BUA, LLOKONS NpeacTaBfieH Ha pucyHke 1.

2.3 MNabapuTHble pa3mepbl LLOKONS yka3aHbl B Tabnvue 2.

3 KomnnektHoCTb
3.2 KomnnekT nocTaBkM LLOKONS yka3aH B Tabnuue 3.

4 Onucanue u paborta

4.1 Cbopka Lokons

4.1.1 N3BneknTe LOKOJb U3 YNaKOBKU.

4.1.2 MNpousBeauTe MOHTaX 3akafHbIx raek M6 Ha yronku B HyXXHOM MecTe.

4.1.3 MNpunoxuTe naHenb K yroaky u 3adpukcupyiite BUHTOM M6x30 ¢ waiboii 6 B Hy>XHOM
MecTe.

4.1.4 NosTopuTe NYHKT 4.1.3 CO CNEAYIOLLMM YTrONKOM.

4.2 MOHTax Lokons K wkadpy

4.2.1 Kwkady B ropn3oHTaNIbHOM MOJIOXEHUN MPUNOXUTE LLOKOJb, 3aPUKCUPYIATE €ero
6ontamm M12.

5 Mepbl 6esonacHoCcTH
SAMNPELLAETCHA
YcTtaHoBKa oGoponaava npuv BKJIDYE€HHOM 3J1IEKTPUYECKOM Hanpsi>keHUuu.

5.1 Bce paboTbl MO MOHTaXy 1 TEXHUYECKOMY 0OCIYXXNBaHWIO N30eNNst [OSKHbI
npon3BoanTLCS B 06ECTOYEHHOM COCTOSIHUM CreLManibHO 0Oy4YEHHbIM NEPCOHANOM C
cobniogeHemM TpeboBaHUii HOPMaTUBHO-TEXHNYECKOW JOKYMEHTaLMN B 0ONACTWN 9NEKTPOTEXHUKN.

5.2 Bce paboTbl AOKHBI MPOBOANTLCS UCMPABHBIM MHCTPYMEHTOM C COB0AEHNEM NPaBUI
TEeXHUKM 6e30MacHOCTH.

5.3 Mpwn 06Hapy>XeHNn HeMcnpPaBHOCTM BO BPEMS rapaHTUMHOIO cpoka HeobxoaMmo
006paTUTLCS B OpraHn3aumio, rae 6b110 NpUobpeTeHo n3aenve, unm B NPeACcTaBUTENbCTBO
no afipecy, ykazaHHOMY HUXeE.

5.4 MNpwu 06HapyXXeHUM HENCMPABHOCTW MO NCTEYEHMM FrAPaHTUIAHOIO CPOKa U3aenne
YTUIN3NPOBATb.



Kk

6 TpaHcnopTupoBaHue, XpaHEHWe U YTUIn3auus

6.1 TpaHcnopTMpoBaHMe LOKOS JONYCKAeTCs B yNakoBKE N3roTOBUTENS NMIOObLIM BUAOM
KPbITOro TPaHcnopTa, 06eCcneymBaloLLIMM 3aLLMTY OT MEXAHNYECKMX MOBPEXAEHWI, 3arPS3HEHMS
1 nonagaHus Baruv, Npu TemnepaType okpyxaioLero Bo3ayxa ot MuHyc 25 °C go nntoc 55 °C.

6.2 XpaHeHune LLOKONS OCYLLLECTBSIETCH B YNAKOBKE U3rOTOBUTENS B 3aKPbITbIX MOMELLEHUSX
C €CTECTBEHHOI BEHTUISALUMEN 1 NPU OTCYTCTBUM B BO3YXE KACNOTHBIX, LLLENOYHBIX U APYTUX
XUMUYECKM aKTUBHBIX MPUMECEl, Npu TeMmnepaType OKpyXaroLLero Bosayxa oT MuHyc 25 °C
0o nnoc 55 °C 1 oTHocKTENbHOM BaxXHOCTU He 6onee 50 % npwu 40 °C.

6.3 lMpu 06HapPY>XeHNN HEMCNPaBHOCTM MO UCTEYEHUN rapaHTUNHOMO cpoka nsaenme
yTUNM3npoBaThb. Llokonb yTunnanposats ¢ METANIMYECKUM JIOMOM.

7 Cpok cnyx0bl ¥ rapaHTUM U3rOTOBUTENS

7.1 Cpok cnyx6bl Lokonst — 3 roga.

7.2 MapaHTUIAHBIA CPOK aKcnyaTaumm LLokons — 1 rof co gHsa npogaxu npy cobnioaeHmnm
noTpedbuTenem ycrnoBuii TPAHCMOPTMPOBAHUS, XPaHEHWS, MOHTaXa 1 SKCrulyaTaLumn.

“ BASEMENT FOR ON-FLOOR CABINETS

1 Basic product data

1.1 The basement for on-floor cabinets of the ITK trademark (hereinafter referred to as the
basement) is designed for mounting the on-floor cabinets on it.

1.2 The basement allows you to create additional free space in the bottom of the cabinet,
in order to provide a convenient arrangement of cable glands.

2 Technical data

2.1 The main technical data of basement are presented in the table 1.
2.2 The appearance of the basement is shown in the figure 1.

2.3 Overall dimensions of the basement are shown in the table 2.

3 Completeness
3.1 Complete set of delivery of basement is shown in table 3.

4 Description and operation

4.1 Basement assembling

4.1.1 Remove the basement from the package.

4.1.2 Install M6 cage nuts on the angles in the desired location.

4.1.3 Put the panel on the angle and fix it with the screw M6x30 with washer 6 in the desired
place.

4.1.4 Repeat step 4.1.3 with the following angle.

4.2 Installation of the basement to the cabinet

4.2.1 Attach the basement to the cabinet horizontally, fix it with M12 bolts.



Kk

5 Safety precautions
DO NOT
Install equipment with electric voltage on.

5.1 All work on the installation and maintenance of the product should be carried out in a de-
energized state by specially trained personnel in observance of the requirements of reference
documentation in the field of electrical engineering.

5.2 All work must be carried out using serviceable tools and in compliance with safety rules.

5.8 If you find a malfunction during the warranty period, contact the organization where you
purchased the product, or a representative at the address listed below.

5.4 If a malfunction is detected after the warranty period expires, dispose of the product.

6 Transportation, storage and disposal

6.1 The basement can be transported in the manufacturer's package by any type of covered
transport providing protection from mechanical damage, contamination and moisture, at ambient
air temperature from minus 25 °C to plus 55 °C.

6.2 The basement is stored in the manufacturer's package in closed rooms with natural
ventilation and the absence of acidic, alkaline and other chemically active impurities in the air, at
ambient air temperature from minus 25 °C to plus 55 °C and relative humidity not more than 50 %
at40 °C.

6.3 When a malfunction is detected after the warranty period expires, dispose of the product.
Dispose of the basement with scrap metal.

7 Service life and manufacturer's warranties

7.1 Service life of basement — 3 years.

7.2 The basement's warranty period is 1 year from the date of sale, if the consumer observes
the conditions of transportation, storage, installation and operation.



Kk

Tabnuua/Table 1

HanmeHoBanme nokasarens / Parameter denomination 3Havehue / Value

Marepwan yronka / Angle material JlucTosasi cTanb TonwmHo! 2 MM / 2 mm thick sheet steel
Marepvan narenm / Panel material Jluctoas cTanb TonwmHoii 1,4 Mm / 1.4 mm thick sheet steel
Knumaruueckoe ucnontenune no FOCT 15150 / Climatic category Y3 /N3

Tewmneparypa akcnnyataumu / Operating temperature, °C -10...45

OTHOCHTeNbHas BNaXHOCTb npu / Relative humidity at 25 °C Jo/Upto 80 %
Tabnuua/Table 2

VcnonHenve / Version TabapuTtHble pasmepsl / Overall dimensions, mm

LWunpuna / Width (W) ny6uta / Depth (W1) Beicota / Height (H)

BSXX-1H66-R 600 600 100

BSXX-1H68-R 600 800 100

BSXX-1H62-R 600 1000 100

BSXX-1H88-R 800 800 100

BSXX-1H81-R 800 1000 100

BSXX-1H82-R 800 1200 100

BSXX-2H81-R 800 100 200

BSXX-2H82-R 800 1200 200

MpumeyaHue — XX — 35 — nokpsiTve MK RAL 7035 uBeT cepblit;
05 — nokpbitie MMK RAL 9005 LigeT 4epHbiit. /
Note — XX — 35 — Powder polyester paint coating RAL 7035 gray color;
05 — Powder polyester paint coating RAL 9005 black color.

Tabnuua/Table 3

HavmerosaHue komnnekTyiotero / Component name Konuyectso, wr. / Quantity, pcs.

MManens / Panel

Yron / Angle

BuT / Screw M6x30

lalika 3aknapHas / Cage nut M6
LLlaii6a / Washer 6

Bont / Bolt M12x55

»| | @ 0| |




naHenb / panel (4 wr./pcs.)

yron / angle (4 wr./pcs.)

PucyHok 1 — Liokons / Figure 1 — Basement

M3paHne/Version 1

@) @) T
w
of No
09 Qo
=
o ¢ ] 8
o o ~
100




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5

